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Some people think it is good to work in

teams. Do you agree or disagree?
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Some people think in the modern world,
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working in teams will become more

popular. Do you agree or disagree?
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Some people think that the ability to
work in teams is the key to a successful

career. Do you agree or disagree?
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Positive or negative development?

Is this a positive or negative
development?
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Why has it happened? How to deal with

this ?
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Why has it happened? Is this a positive or

negative development?
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What problems has it caused? How to

improve the situation?
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computer games every day. Is it a
positive or negative
development?
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Many people today play
computer games every day. Why
has it happened? How to deal
with this ?
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Many people today play
computer games every day. Why
has it happened? Is this a positive
or negative development?
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Many people today play
computer games every day. What
problems has it caused? How to
improve the situation?
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congestion charges. To what
extent do you agree or disagree?
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Some people argue that the
government should impose
congestion charges, in order to
reduce traffic congestions. To
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what extent do you agree or
disagree?
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In order to reduce traffic
congestion, cities have chosen
to impose congestion charges.
Is this a positive or negative
development? (A] LA i %48
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In order to reduce traffic
congestion, some people argue
that cities impose congestion
charges. To what extent do you

agree or disagree? (R AEITIBA
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Students should push themselves

instead of
push themselves to be better to be better than their classmates ,
than their classmates , rather rather than work for everyone 's
than work for everyone 's benefits. Do you agree or disagree?
benefits. Do you think (AT LA work for everyone’s
disadvantages outweigh benefit HJ4F4b)
advantages? (ABEUE work for
everyone’s benefit [ ZF PR 4L )
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There are more workers
working at home and more
students studying at home,
because the computer
technology is more and more
easily accessible and cheaper.
Do you think it is a positive or
negative development? (W& HE
PR RRSLE AT AT BLAE 53 B 5
512 3] (AR A

People can choose to work or
study at home, because the
computer technology is more and
more easily accessible and cheaper.

Do you agree or disagree?
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Many universities offer online courses | Itk 25 @ H
to students instead of delivering them )
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on campus. Do you think it is a
positive or negative development?
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Many cities have vehicle-free days,
when people are required or
encouraged to take a bus, cycle or
travel by taxi. Do advantages of this
outweigh disadvantages?
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The best way for governments to WRREH .
solve traffic congestion is to provide )
free public transport 24 hours a day, 52 A A C.
7days a week. To what extent doyou | PAE R AILTE B AFEATTHCHE C
agree or disagree? WD AT b gE
Many people think modern WS R .
communication technology is having X
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some negative effects on social
relationships. To what extent do you
agree or disagree?
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People who decide on a career path WS .
early in their lives and keep to it are
more likely to have a satisfying e A AL C.
working life than those who change A HTAE B 3RFE ORI AR ¢ B
jobs frequently. To what extent do i
you agree or disagree? -
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Some people think children nowadays | Ml S 25/ H .
have too much freedom. To what
i€ Co

extent do you agree or disagree?
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More and more people read news
from the Internet, but newspapers
will continue to be used by the
majority of people. To what extent do
you agree or disagree?
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Developing countries require
international organizations’ help.
Some people prefer financial aid while
others think practical aid and advice
are better. Discuss both views and
give your own opinion.
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Some people think what children
watch on televion influences their
behaviour, while some people think
the time children spend watching TV
can influence their behaviour. Discuss
both views and give your own
opinion.
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Many businesses think that the new
employees who graduate from
schools lack basic interpersonal skills,
such as working with colleagues as a
team. What has caused this and what
are solutions to the problems?
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Newspapers will disappear. To what extent do you agree or disagree?
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Enii: Advertisements encourage consumers to buy in quantity rather than
promote quality. To what extent do you agree or disagree?
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In some cities, governments have tried to reduce traffic congestion. For
instance, they have imposed a congestion tax during rush hour. Do you think
this development is positive or negative?
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Some people argue that in order to reduce traffic congestion, the government
can impose a congestion tax during rush hour. To what extent do you agree or
disagee?
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Some countries punish young offenders by requiring them to do community
service, such as cleaning streets, rather than sending them to prison. Do you
think it is a positive or negative development?

A 14-year-old young who seriously damaged school was made to clean streets
as a punishment. Do you think young criminals should be sent to prison rather
than punished in other ways?
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some people think that car-free days can help decrease air pollution, but
others think there are other ways to achieve this. Discuss both views and give
your own opinion.
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some people think that the government should set car-free days, but others
do not agree with this idea. Discuss both views and give your own opinion.

AR LI H A TE A, PHREEZE H AR,

Q: NHtAHMEEHE T AMC, A CAlLIAR?

O L R H I T B RRRE, — BRI R A T C, OV HTERT BAE
ASIAT C,

#1/8: Doing homework can improve exam performance. To what extent do you
agree or disagree?
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%@ Doing homework is the only way to improve exam performance. To what
extent do you agree or disagree?
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fl@: To improve exam performance, it is better to assign more homework to
students than allow them to decide what they do outside of school hours. To
what extent do you agree or disagree?
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The environmental problem in the world cannot be solved by ordinary people
because they can do little to change the situation. It is the responsibility of
politicians. To what extent do you agree or disagree?
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